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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 

    15   ‘  ’  .  

 ‘  ’     

 . 

      . 

    . 

  , , ,    

. 

   . 

Reg. No. : .....................................    

Name : ..........................................   
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PART – I 

A. Answer any 4 questions from 1 to 6. Each carries 1 score. (4  1 = 4) 

1. Who made the famous speech, ‘Tryst with Destiny’ ? 

 (a) Nehru (b) Lal Bahadur Shastri (c) Indira Gandhi  

 

2. The political party formed in 1964, following a split is Communist Party of India. 

 (a) CPI(M) (b) Janata Party  (c) Swatantra Party  

 

3. Who is known as the ‘Milk Man of India’ ? 

 (a) K.N. Raj (b) Verghese Kurian (c) M.S. Swaminathan 

 

4. The slogan ‘Garibi Hatao’ was associated with ______. 

 (a) Jayaprakash Narayan (b) Ram Manohar Lohia (c) Indira Gandhi 

 

5. Identify the state, which does not belong to North East India. 

 (a) Manipur (b) Tripura (c) Tamil Nadu 

 

6. Identify the Nation which adopted an ‘Open door’ policy in 1978. 

 (a) Pakistan  (b) China (c) India 

 

B. Answer all questions from 7 to 10. Each carries 1 score. (4  1 = 4) 

7. Which among the following is not an example of ‘Global Commons’ ? 

 (a) Earth’s atmosphere (b) Antarctica (c) Back waters  

 

8. First Gulf war is also known as _________. 

 (a) Operation Enduring Freedom 

 (b) Operation Infinite Reach 

 (c) Operation Desert Storm  

 

9. Identify the country which does not belong to South Asia.  

 (a) India (b) Pakistan (c) China 

 

10. The number of permanent members in UN Security Council. 

 (15, 5, 7) 
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PART – I 

A. 1  6    4   .            

1  . (4  1 = 4) 
1.        ? 
 (a)  
 (b)     
 (c)    
 

2. 1964        
. 

 (a) ...() (b)   (c)   
 

3. ‘ ’  ? 
 (a) ..  (b)   (c) ..  
 

4. ‘ ’      ? 
 (a)   
 (b)     
 (c) Indira Gandhi 
 

5.     
.  

 (a)  (b)  (c)  
 

6. 1978- ‘ ’    ? 
 (a)  (b)  (c)   
 
 

B. 7   10      . 1  . (4  1 = 4) 
7.           

  ? 
 (a)  (b)  (c)   
 

8.      . 
 (a)     
 (b)    
 (c)    
 

9.   .  
 (a)  (b)  (c)  
 

10.      . 

 (15, 5, 7) 
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PART – II 

A. Answer any 3 questions from 11 to 15. Each carries 2 scores. (3  2 = 6) 

11. Write any two challenges in the conduct of first General Elections in India. 

 

12. Write any two objectives of Nehru’s foreign policy.   

 

13. Write a brief note on ‘Chipko Movement’. 

 

14. What is ‘Cold War’ ? 

 

15. What is ‘Shock Therapy’ ? 

 

B. Answer any 2 questions from 16 to 18. Each carries 2 scores.  (2  2 = 4) 

16. Which of the following statements substantiate European Union as an alternative 

centre of power. 

 (a) European Union is a sports organisation.  

 (b) European Union has military Influence. 

 (c) European Union is the World’s Second Biggest Economy. 

 (d) European Union consists of only two countries.   

 

17. Name any two principal organs of United Nations Organisation. 

 

18. Write a short note on Earth summit of 1992. 

 
PART – III 

A. Answer any 3 questions from 19 to 23. Each carries 4 scores. (3  4 = 12) 

19. Write any two characteristics of both first and second five year plans.  

 

20. Write any four features of ‘Soviet System’. 

 

21. Write any four New sources of threats to security. 

 

22. Briefly explain the political and economic consequences of Globalisation. 

 

23. Write a brief note on Anti-arrack movement.  
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PART – II 

A. 11  15    3   .        
2  . (3  2 = 6) 

11.        
  .  

 
12.        .  
 
13.       .  
 
14. ‘ ’   ? 
 
15. ‘ ’  ? 
 
B. 16  18    2   .      

2  . (2  2 = 4) 
16.       

  . 
 (a)     .  
 (b)    .  
 (c)        

.  
 (d)     .   
 
17.       .  

 
18. 1992       .  

 
PART – III 

A. 19  23   3    . 4  
.   (3  4 = 12) 

19.       .  
 
20. ‘ ’ 4 .  
 
21.     .  
 
22.  ,   

 .  
 
23.      . 
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B. Answer any 1 question from 24 to 25. Carries 4 scores.  (1  4 = 4) 

24. What were the main provisions of ‘Punjab Accord’ ? 

 

25. Briefly discuss the hindrances on democracy in Pakistan. 

 

PART – IV 

A. Answer any 3 questions from 26 to 29. Each carries 6 scores.  (3  6 = 18) 

26. Explain the difficulties in the process of partition of India. 

 

27. Explain the factors, led to the dominance of Indian National Congress in the first three 

General elections in India. 

 

28. Explain the context of fourth General elections in India in 1967. 

 

29. Explain the External and internal dimensions of Kashmir issue. 

 

 

B. Answer any 2 questions from 30 to 32. Each carries 6 scores.  (2  6 = 12) 

30. Explain the rise of politics based on religious identity in India in the light of Ayodhya 

issue. 

 

31. Explain the 3 pillars of ASEAN. 

 

32. Explain India’s stand on UN reforms. 

 

PART – V 

 Answer any 2 questions from 33 to 35. Each carries 8 scores. (2  8 = 16) 

33. Explain the causes which led to the declaration of National Emergency in India in 

1975. 

 

34. What does Hegemony mean ? Explain three understandings of US Hegemony.  

 

35. Explain the causes and consequences of Indo China war of 1962. 
 

__________ 
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B. 24  25    1   .  
 4    (1  4 = 4) 
24. ‘ ’    ? 
 
25.      .  
 

PART – IV 
A. 26  29    3   .  
  6  . (3  6 = 18) 
26.       

.  
 
27.        

   .  
 
28. 1967      .  
 
29.      .  
 
B. 30  32    2   .      

6  . (2  6 = 12) 
30.      

  .  
 
31.     .  
 
32.       .  

 
PART – V 

 33    35    2   .  
  8  . (2  8 = 16) 
33. 1975-      

.  
 
34.   ?     

 .  
 
35. 1962  -    

.  
__________ 
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